R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1649\D. RWBC Drawings\FL-15368R1.dwg, FL-15368.5

~HllewSouth
WINDO&SOLUTIONS

g

4901 Oak Fair Bivd. Tampa, FL 33610

Vantage

Horizontal Sliding Window

"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 2010 Florida Building

Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone” (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section 1609.1.2 of the
FBC.

For 2x stud framing construction, anchoring of these units shall be the same as that
shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures & general notes
Vertical & horizontal cross sections

Vertical & horizontal cross sections

Buck & frame anchoring

Bill of materials, glazing details and components

O [N | =

59.75" MAX. OVERALL
FRAME HEIGHT

72" MAX. OVERALL

/ /
ya Vi

720" x 59.75"

32.25" x §3.75"

Gl

+30.0

63.0" x 44.0"

27.75" x 38.0"

Gl

+35.0

R

gineers
2813

Y9,

dt, P.E. No. 43409

Tzu
m

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone MNo.: 813.659.9197

Documents F'upand By:
Lyndeon F.

Florida Board of Professional En

Certificate Of

Ry

HORIZONTAL SLIDER
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PART OR ASSEMBLY:

PRODUCT:

JK
BY

REVISIONS

4/19/12 |Change to Engineer’s Eval.

NOJ DATE

1

pATE: 3/20/12
scAte:  N.T.S.
|DWG. BY: JK

CHK. BY: LFS
DRAWING NO.:

FL—15368.5

SHEET _1_OF _5_

@ 2012 R.W. BUILDING CONSULTANTS INC.



R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1649\D. RWBC Drawings\FL-15368R1.dwg, 2.5

NOTE
1. tem "L" Blind Stops secured with item "J" located
2.0" from each end and a maximum 8.0" o.c.

2. For 1x buck installation use item (N).

1 S—l
2
/
VA
/
(®)
:5,:1’;“%';4 y=tm—— E NOTE 1
SEE NOTE 2 q - ‘M (8)
o
@\; > INTERIOR

i\
W

un" D a3

SEE NOTE2 I ”‘ II. :
0 T - *-:E‘”

AN EXTERIOR

(8) 3

/ 1"\ HORIZONTAL CROSS SECTION
W 2X Buck Masonry Construction

EXTERIOR

1-1/4" MIN,

EMB. (TYP.)

INTERIOR

("2 VERTICAL CROSS SECTION

w 2X Buck Masonry Construction

1-1/4" MIN,

EMB. (TYP.)

e P 2
,§ ) 1 3
g Eg WY
‘.EISE"' Y
3gd N
5362 uj
HE@ 25N\Jc
3-0 83\
8RS FE(NE
|l§ otg £
128,00
3%@?355 :
lgmn.n. -é 13
s g 5
2 ]
£ =°
8
(n]
3
=
o
£ | &
3 | 88
o T
2 |5 o
2 138 3,
g a...JU)
S |8 88
e Q S
= % o E
‘el
o
5|2
30
)
[
.E %
g 1O
£l »
s |2
“-.I:JI a!
o o
5
| =
2
(3]
o
oz
“;\D
"‘O‘
zZ
paTE: 3/20/12
scAlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-15368.5

|sesr 2 or 5

© 2012 R.W. BUILDING CONSULTANTE INGC.



"ON| SLNVLINSENDD BNIOTINE "M'Y 2102 §

Jﬁn.v\wz\.m. JEE,..om.m uopui 4(%%%%%mm¥mmmwo - mzo_w_.}w."_ T mi . & 5_
€186 'ON UOHDZLOQINY JO S1DoIUed Ar ‘IpA3 s Jesuibuz oy ebubyd| zi/6L/¥ | | ﬂ S” Wm .._.r._ mlnw
suosujbug |puoisseOl4 JO PIDOE DPLOLY -ATENASSY 0 1dvd m m s R3:.. S
LBLE'6S9°TLE TON Suoyd N o . g - 3_
SEREE. 14 SOPIA L% vel og@. ¥3ars VINOZIMOH ™l |B|E(g !
*ONI ‘SINVLINSNOD ONIGTHN: i m ¥ w & m
:Ag_pe.ode.d sjuswinoog :10Naodd S m 518
5
Z ("dAL) "aw3
i NIW B/ L=
)
- o [dA)awa
"NIW ./ 1-1
=
s
e
s
[P
]
O
p— R
< o I
: 2
SIS

/1 \ VERTICAL CROSS SECTION

hu
S
o
7
]
=
~
=
/,N.Gf
& (- o]
Ll L]
x ~ Sl 9 N
TR
//,.f; N g m
AN v
~ a
| 3
R <|=
b — _.|— ; 7 mw
ec| 2
. |l S
v v
e mw
A
) /A L

1. ltem "L" Blind Stops secured with item "M" or "N" located
2.0" from each end and a maximum 8.0" o.c.

NOTE

§'E DMPTYBOEST-1\sDUIMEI] DBMY Q\6¥IT 3d\0OLT - 1091 101d\s18p|0 12910Id\s19810d - W\:y



o @
8§V :
o Ep M
£ n20 (R
fE2 B 5 NS
o 5 Z 4
TH
‘ H38 g5 ,©
s o z B2 8 EN g
— ——r——s () 80"MAX. T[T (TYP) < 88 EEWNE
/ 4P * B ) ‘“‘ To.c.mr’.y lgggss W&
N - | o e — If Bt 8§ E‘
o . TYP. - el ( 2 E % }
. . - » POC o
L “E — SEE NOTE | i 2x Buck ( J W § @§
=i | ! FRAME—_ ~ 2X BUCK 1X BUCK =
X SUB 2X SUB 1X BUCK WP [
BUCK BUCK TYP. .
— L
& Ly
MASONRY = o
OPENING MASONRY SEE NOTE 2 & E%
o T OPENING 2X BUCK E 5' &<
Iy | s B kS
Ty . ~ 1X BUCK N S et
i R TR DIRECT TO NE 2ZF S |9=
g E : IMASONRY = g = BT |
T | | 8¢ S TYP. 1 33 3
e Py o =° : = I
¢ Gt & AR e T Selu et arn 22N _"l (TYP.)
8.0" MAX.
O.C. (TYP.) 2
2X BUCK ANCHORING FRAME ANCHORING b
1)
3 &
£l |o
U —
8 &l
CONCRETE ANCHOR NOTES: NOTE 2
1. Substitution of equal concrete anchors from a different supplier may have different edge 1. ltem "F" installed in exterior track and item "H" installed in interior frack S
distance and center distance requirements. ) _§
2. Concrete anchor locations at the corners may be adjusted to maintain the min. edge 2. Item "L" Blind Stops at sill secured with item "J", "M" or "N" located 2
distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be 2.0" from each end and a maximum 8.0" o.c. =
adjusted to maintain the min. edge distance to mortar joints, additional concrete anchors D=
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded. 3. ltem "L" Blind Stops at jambs and head secured with item "J" or "M" IS
3. Concrete anchor table: located 2.0" from each end and a maximum 8.0" o.c. 2
~[O
=
|oate: 3/20/12
scale:  N.T.S.
Imw /4" 1-1/4" 2-1/2" 3 e we ik
CHK. BY: LFS
ELCO 1/4" 1-1/4" 1 4 |oRAWING NO.:
FL—-15368.5
seer 4 oF 5|

R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1649\D. RWBC Drawings\FL-15368R1.dwg, 4.5

@ 2D12 R.W. BUuiLDING CONSULTANTS ING.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1649\D. RWBC Drawings\FL-15368R1.dwg, 5.5

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
~ A |IXBUCKSG >=0.42 WOOD
B |2XBUCKSG >=0.42 WOOD
C__|1/4"MAX. SHIM SPACE -
D | 1/4"X 2-3/4" PFH ELCO OR TW CONCRETE SCREW STEEL
= | MASONRY - 3,192 PSI MIN. CONCRETE CONFORMING TO ACI S
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
F__|#10X 2" PPH SMS STEEL
G__|1/4"X 2-3/4" HH ELCO OR ITW CONCRETE SCREW WOOD
J__[#9X1-5/8"PFHWS STEEL
H | #10X 1-3/4' PPHSMS STEEL
K| #6 X 1-1/4" PFH SMS STEEL
L__|3/4"X3/4"BLIND STOP WOOD
M__| 3/16" X 2-1/4" PFH ELCO OR MW CONCRETE SCREW STEEL
N[ 3/16"X 2-3/4" PFH ELCO OR TW CONCRETE SCREW STEEL
1__|FRAME® PVC
2 _|RAL® PVC
3| GLAZING BEAD * PVC
4| GLASS SETTING BLOCK (1/8' X 1" X 1/8') PVC
5 | PULL STILE* PVC
6 | KEEPER STILE* PVC
7 | MEETING STILE* PVC
8 | ANTILIFT & SILL TRACK* PVC
10 | GLAZING SILICONE (SashSeal) :
11__ | RENFORCEMENT ALUM
12| RENFORCEMENT ALUM
14 | LOCK ASSEMBLY (TRUTH) STEEL
20 | LIQUID APPLIED DESICCANT (SashDri) :

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED BY
EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

1/2" GLASS BITE

3/4" O.A. GLASS THK.
1/8" ANNEALED GLASS
| /
1 f AIR SPACE

I \ 1/8" ANNEALED GLASS

C:) GLAZING DETAIL

0.125"
] l=—02 ’
N
o~
1 fssinroncmsm N
5 B
o <
[ =) o

i

12 REINFORCEMENT
452

3.8

A

2.34' ——I
|

—~— 0.07"

/—1

-'—| |—-— 0.075"

& 0075 —=— H

I— O

-

= 1.42" —=

0.075" —=

0.075" —=] |=—
1.57" —=i

=—o1.48"

( : ) GLAZING BEAD
448

—= |~ 007"

@ ANTI-LIFT & SILL TRACK

—=—1.424" —

0. Box 230 Vairico FL. 33595
Lyndon F. Schmidt, P.E. No. 43409

Phone No.: 813.659.9197
Florida Board of Professional Engineers

UILDING CONSULTANTS, INC.
Certificate Of Authorization No. 9813

Decuments Prepared By:

)
=
o
& 3L
[ (DLI..I
@ .3
o 2<
. =
=X 5 S
E o EO
8 =
T [ =
o |
el = 3 %E
G
2 bl
o 0.
<5
©
&
el 2
5l 6
— (72}
°| —_—
& Ql
L
L]
o
c
2
(&)
o
S
"‘;_\D
~lo
Z
pATE: 3/20/12
SCALE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-15368.5

SHEET _5_oF 5_

@ 2012 R.W. BUILDING CONSULTANTS INDO.

— =



